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Questions

The difference between gross investment and net investment is:

Under new GATT agreements textile trade related to Multi- Fiber Arrangement (MFA) has to
be abolished within?

Headquarter of Asian Development Bank (ADV) is located at?

Developing economies usually:

Which of the following is not a way of helping developing economies?

What is Blue chips shares?

In marketing "USP" stands for:

In a cartel member firm may be given be given a fixed amount to produce. This is called a:

If a few firms dominate an industry the market is known as:

Which of the following country has left the membership of OPEC?

Answers Choice

. Depreciation <br>
. Acceleration <br>
. Capital investment<br>
. Deceleration <br>

. 5 Years <br>

. 10 Years <br>
. 15 Years <br>
. 20 Years <br>

. Manila <br>

. Tokyo <br>

C. Bangkok <br>
D. New Delhi <br>
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A. Have large industrialized sectors
<br>

B. Are dependent on primary
products <br>

C. Have high levels of wealth <br>
D. Earn more form exports than is
spent on imports<br>

A. Aid <br>

B. Loans <br>

C. Protectionism of developed
markets <br>

D. Training and education
programmes <br>

A. Those shares which are listed in
stock Exchange<br>

B. Those shares on whom dividend is
paid at higher rate regularly<br>

C. Those share whose guarantee is
given by Government<br>

D. Those shares which are issued at
first time <br>

. Unique selling Propositions<br>
. Underlying sales <br>

. Unit sales point <br>

Under sales Procedure <br>

Limit <br>
Factor <br>
Quota <br>

. Quotient<br>

. Monopolistic competition <br>
Competitively monopolistic <br>
Duopoly <br>

. Oligopoly <br>

. Indonesia <br>
Iraq <br>
U.A.E <br>

. Angola <br>
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